M1060-2 QUIZ 2 (Spencer Stirling) - September 9, 2010

Directions: You may attach more sheets if necessary. SHOW ALL WORK and CLEARLY

mark vour solutions.
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1) (2 points) Find the point (z,y) on the unit circle that corresponds to the angle ¢ = %
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[Using properties of the sin{) funetion (stich ag'éven/odd,”

etc), evaluate the following (hint: drawing the situation on the unit circle might help):
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(b) sin{w —t) = : Wi;
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3) (3 points) Sketch a right triangle that satisfies sin(#) = 3/4. Label the length of all of the
legs (hint: use the Pythagorean theorem). Once you've done this, compute cos(f}.
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4) {5 points) In traveling across flat land, you notice a mountain directly in front of you. It’s
angle of elevation {to the peak) is 5°. After you drive 11 miles closer to the mountain, the
angle of elevation is 9.5°. Approximate the height of the mountain.
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